9-INCH WIDE COLOR MONITOR KV-MR9000

)

ENGLISH

MONITOR COLOR DE PANTALLA ANCHA

DE 9-PULGADAS

KV-MR9000

MONITEUR COULEUR A ECRAN LARGE

DE 9 POUCES

FRANCAIS § ESPANOL

KV-MR9000

]

20®Q

For installation and connections, refer to
the separate manual.

Para la instalacion y las conexiones,
refiérase al manual separado.

Pour I'installation et les raccordements,
référez-vous au manuel séparé.

INSTRUCTIONS | e e
Enter below the Model No. and Serial
MANUAL DE INSTRUCCIONES No. which are located on the top or
MANUEL D’INSTRUCTIONS information for future reference.

Jve
MONITOR CONNECTION UNIT o

| N N [y N N |

* This system cannot receive television broadcasts and is primarily designed
for use with a VCR or a DVD player. Use the separately sold mobile TV tuner
unit KV-C10 for optional television broadcast reception.

* Este sistema no puede recibir emisiones de televisién y ha sido disefo para
utilizarse esencialmente con un VCR o un reproductor DVD. Utilice la unidad
de sintonizador de TV movil KV-C10 vendido por separado para una recepcion
opcional de emisiones de television.

* Ce systéme ne peut pas recevoir les émissions de télévision et il est
essentiellement congu pour I'utilisation avec un magnétoscope ou un lecteur
de DVD. Utilisez le module de tuner de télévision mobile KV-C10 vendu
séparément afin de pouvoir recevoir les émissions de télévision.

bottom of the cabinet. Retain this

Model No.

Serial No.

LVT0986-001A
[J]




T
@
a
(©)
P
w

/6\ RISK OF ELECTRIC SHOCK /I\
DO NOT OPEN .

CAUTION:

TO REDUCE THE RISK OF ELECTRIC SHOCK.
DO NOT REMOVE COVER (OR BACK).
NO USER-SERVICEABLE PARTS INSIDE.
REFER SERVICING TO QUALIFIED SERVICE PERSONNEL.

The lightning flash with arrowhead symbol, within an equilateral
triangle, is intended to alert the user to the presence of
uninsulated "dangerous voltage" within the product's enclosure

A that may be of sufficient magnitude to constitute a risk of electric
shock to persons.
The exclamation point within an equilateral triangle is intended to
alert the user to the presence of important operating and

maintenance (servicing) instructions in the literature
accompanying the appliance.

WARNING:

TO PREVENT FIRE OR SHOCK
HAZARD, DO NOT EXPOSE THIS
UNIT TO RAIN OR MOISTURE.
CAUTION:

This monitor system should be used with DC 12V only.
To prevent electric shocks and fire hazards, DO NOT
use any other power source.

CAUTION:

This product has a fluorescent lamp
that contains a small amount of
mercury. It also contains lead in some
components. Disposal of these
materials may be regulated in your
community due to environmental
considerations.

For disposal or recycling information
please contact your local authorities, or
the Electronics Industries Alliance:
http://www.eiae.org./

Installation requires some special
knowledge.

Do not install the monitor system
yourself. Consult a dealer having
special knowledge of this kind for safe
and reliable installation.

WARNINGS

¢ DONOTINSTALLTHE MONITOR IN A LOCATION WHICH
OBSTRUCTS DRIVING, VISIBILITY OR WHICH IS
PROHIBITED BY APPLICABLE LAWS AND
REGULATIONS.

¢ THERE MAY BE LEGAL REGULATIONS DEFINING THE
PERMISSIBLE INSTALLATION LOCATIONS FOR THE
DISPLAY UNIT WHICH DIFFER BY COUNTRY OR BY
STATE. BE SURE TO INSTALL THE DISPLAY UNIT IN A
CORRECT LOCATION ACCORDING TO SUCH LAWS.

¢ DONOTINSTALL THE MONITOR IN A LOCATION WHICH
OBSTRUCTS THE OPERATION OF AN AIR BAG.

e THE DRIVER MUST NOT OPERATE THE MONITOR
SYSTEM WHILE DRIVING.
OPERATING THE MONITOR WHILE DRIVING MAY LEAD
TO CARELESSNESS AND CAUSE AN ACCIDENT.
* STOP YOUR VEHICLE IN A SAFE LOCATION WHEN
OPERATING THE MONITOR.

THE DRIVER MUST NOT WATCH THE TELEVISION OR
VIDEOS WHILE DRIVING.

IFTHE DRIVERWATCHES THETELEVISION OR AVIDEO
WHILE DRIVING, IT MAY LEAD TO CARELESSNESS
AND CAUSE AN ACCIDENT.

WHEN LIGHTNING OCCURS, DO NOT TOUCH THE
ANTENNA WIRE OR THE TELEVISION.

TOUCHING THE ANTENNA WIRE OR THE TELEVISION
UNDER SUCH CONDITIONS MAY CAUSE
ELECTROCUTION.

KEEP THE MONITOR AT AN APPROPRIATE SOUND
LEVEL WHILE DRIVING.

DRIVING WITH THE SOUND AT A LEVEL THAT
PREVENTS YOU FROM HEARING SOUNDS OUTSIDE
OF AND AROUND THE VEHICLE MAY CAUSE AN
ACCIDENT.

ASK A TRAINED TECHNICIAN TO INSTALL THE

MONITOR SYSTEM.

INSTALLATION AND WIRING REQUIRE TRAINING AND

EXPERIENCE.

* TO BE SAFE, ASK THE SALES OUTLET WHERE YOU
PURCHASED THE MONITOR SYSTEM TO PERFORM THE
INSTALLATION.

BE SURE NOT TO LET THE MONITOR FALL OR BE
STRONGLY IMPACTED SINCE THIS MAY CAUSE A
MALFUNCTION OR FIRE.

DO NOT USE THE MONITOR WITH THE ENGINE OFF.
WATCHINGTHE MONITORWITHTHE ENGINE OFF WILL
CONSUME BATTERY POWER AND MAY PREVENT THE
ENGINE FROM STARTING.

DO NOT USE ANY CEILING LIGHT BULBS OTHERTHAN
SPECIFIED FORTHIS UNIT (12V, 3W).

FAILING TO DO SO MAY POSSIBLY CAUSE FIRE.

WHEN NOT IN USE, CLOSE THE LIQUID CRYSTAL
PANEL AND STORE IT INTO THE COMPARTMENT.

0



Thank you for purchasing a JVC product. Please read all instructions carefully before operation, to
ensure your complete understanding and to obtain the best possible performance from the unit.

CONTENTS

PRECAUTIONS .. 4q
CONTROLS AND FEATURES ... .5 )
Wide color monitor 5
Remote controller 6 4 :.‘
Replacing the battery 7
BASIC OPERATIONS...... 8
Other basic operations 10
Activating the door SeNSOr .........cceeiiiiiiiiiiiii e 10
Turning on or off the ceiling lights ..o 10
Selecting the RF signals to the receiver ..........cccccoeiniiiinennns 10
Using optional cordless headphones.............cccociiiiiiiiinnnnnen. 10

ADJUSTMENTS

Using the Menu

Basic procedure..........cccccveenen
Adjustable items on the menu

MAINTENANCE ......

TROUBLESHOOTING

14 @
14 ®

2

SPECIFICATIONS

15

INFORMATION (For U.S.A. only)

— Reorient or relocate the receiving antenna.

This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to Part 15
of the FCC Rules. These limits are designed to provide reasonable protection against harmful interference in a
residential installation. This equipment generates, uses, and can radiate radio frequency energy and, if not installed
and used in accordance with the instructions, may cause harmful interference to radio communications. However,
there is no guarantee that interference will not occur in a particular installation. If this equipment does cause
harmful interference to radio or television reception, which can be determined by turning the equipment off and on,
the user is encouraged to try to correct the interference by one or more of the following measures:

— Increase the separation between the equipment and receiver.
— Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.
— Consult the dealer or an experienced radio/TV technician for help.

BEFORE USE

* For safety....

e Do not raise the volume level too much, as this
will block outside sounds, making driving
dangerous.

e Stop the car before performing any complicated
operations.

* Temperature inside the car....

If you have parked the car for a long time in hot
or cold weather, wait until the temperature in the
car becomes normal before operating the unit.

ENGLISH



T
@
a
(©)
P
w

(v> PRECAUTIONS

Cautions for handling the liquid crystal panel

S

Do not expose the liquid crystal display to

direct sunlight.

e Storage temperature range: —20 °C to +80
°C (-4 °F to 176 °F)

During the summer,
temperatures can

reach as high as
100 °C (212 °F).

When the liquid crystal panel reaches high
temperatures or low temperatures, chemical
changes occur within the liquid crystal panel
which may cause it to malfunction.

~
Do not drop the liquid crystal display or strike

it sharply.

I

The red spots, blue spots and green spots
on the panel surface are a normal
characteristic of liquid crystal panels, and
not a problem.

Spots

SN

The liquid crystal panel is built with very high
precision technology and has at least
99.99% effective image pixels. Be aware
that on 0.01% of the panel there may be
missing or constantly lit pixels.

N

When the temperature is very cold or very
hot, the image may not appear clearly or
may move slowly.

The image may not be synchronized with
the sound or the image quality may decline
in such environments. Note that this is not
a malfunction or problem.

» Usage temperature range: 0 °C to +40 °C

(32 °F to 104 °F)

40 °C (104 °F) or hotter

/




CONTROLS AND FEATURES /)

Wide color monitor

1] ( 1 | ) 7]
ij—@
\ N
E \ : i = T :LJ
\ o o H o
O
(4]} . 4
©
5] = = )
6] ==

[eo] []

Door Sensor button ( @)

Activates or deactivates the door sensor

which turns on the ceiling light when a door

is open.

¢ When the door sensor is turned on, this
button glows red.

Ceiling lights

Screen compartment

While not in use, close the screen and

store it in this compartment.

Screen (Liquid crystal panel)

* When you open the screen, the monitor
automatically turns on.

* When you close it, the monitor
automatically turns off.

IR transmitter

* See “Specifications” for cordless
headphones.
It is recommended to use JVC’s
cordless headphones KS-HP1K.

Screen hook

* Release from the screen compartment
to use the monitor.

e After using the monitor, close the screen,
and hook to the screen compartment.

Ceiling Light button ()
Turns on or off the ceiling lights.
Up button (a)
Increase the adjustment level of (or select
an appropriate setting for) the item
selected by the Menu button.
Menu button (M)
Select an adjustment item.
Down button (v)
Decrease the adjustment level of (or select
an appropriate setting for) the item
selected by the Menu button.
Power button (())
* Press to turn on the power.

Each time you press the button, the input

mode changes when the power is on.
¢ Press and hold to turn off the power.
Remote sensor
Aim at this area when operating the
monitor from the remote controller.

Note:

When you watch the screen at an angle, the
picture might not be clear. This is not a
malfunction. The finest picture can be seen
when you watch the screen straight-on.

ENGLISH



T
@
a
(©)
P
w

32

Remote controller RM-RK500

Monitor section

(o] [~ [o]

Video cassette player section

Monitor section

[1] Power On/Standby button ( ("/])
Turn on or off the monitor system.

Up button (a)
Increase the adjustment level of (or select
an appropriate setting for) the item
selected by the MENU button.

Down button ()
Decrease the adjustment level of (or select
an appropriate setting for) the item
selected by the MENU button.

MODE button
Each time you press the button, the input
mode changes.

MENU button
Call up or erase the Menu screen.

TV tuner section

The following buttons can be used for operating

JVC’s KV-CI0.

e For specific operations, refer to the instructions
for the KV-CI0.

(6] TV CH buttons (A/Y)

SKIP button

VOCAL button

[9] ALMEMO (auto memory) button

RF (radio frequency) button

H/P (headphones) VOLUME buttons

(+/-)
CALL button

Video cassette player (VCP) section

The following buttons can be used for operating

JVC’s KV-V8 or KZ-V10.

e For specific operations, refer to the instructions
for the KV-V8 or KZ-V10

Power On/Standby button ( ()/|)

H (Stop) button

<<« (Rewind)/»» (Fast-forward)

buttons
» (Play) button



Before using the remote controller:
When you use the remote controller for the

first time, pull out the insulation sheet as

illustrated to the right.

¢ Aim the remote controller directly at the

remote sensor on the color monitor. Make
sure there is no obstacle in between.

* Do not expose the remote sensor to strong

light (direct sunlight or artificial lighting).

(back side)

Pull out
/ ™
Insulation sheet

(The battery has been installed when shipped
from the factory.)

[ Replacing the battery l

When the controllable range or effectiveness
of the remote controller decreases, replace
the battery.

1.

Remove the battery holder.

While pushing in the lock using a ball-point
pen or a similar tool (D), pull out the
battery holder in the direction indicated by
the arrow ().

(back side) O °

@

10
Replace the battery.
Slide a new battery into the holder with
the + side facing upwards so that the
battery is fixed in the holder.

Lithium coin battery
(product number:
CR2025)

Return the battery holder.
Insert the battery holder again pushing it
until you hear a clicking sound.

(back side) O

2

WARNING:

o Store the battery in a place which children
cannot reach.

If a child accidentally swallows the battery,
immediately consult a doctor.

* Do not recharge, short, disassemble or heat
the battery or dispose of in a fire.

Doing any of these things may cause the
battery to give off heat, crack or start a fire.

* Do not leave the battery with other metallic
materials.

Doing this may cause the battery to give off
heat, crack or start a fire.

o When throwing away or saving the battery,
wrap in tape and insulate; otherwise, it may
cause the battery to give off heat, crack or
start a fire.

e Do not poke the battery with tweezers or
similar tools.

Doing this may cause the battery to give off
heat, crack or start a fire.

CAUTION:

DO not leave the remote controller in a place
(such as dashboard) exposed to direct sunlight
for along time. Otherwise, it may be damaged.

ENGLISH



©1 BASIC OPERATIONS

Preparation
Before operating the monitor system, make sure that all external components are
correctly connected and installed.

3

2

NOYOI0)

Remote

Open the liquid crystal panel.

The monitor turns on.

Note:

If the liquid crystal panel is already open, press the Power button
((Y ) on the unit or the Power On/Standby button ( (")/|) on the
remote control to turn on the monitor.

CAUTION:

When not in use, close the liquid crystal panel and store it
into the compartment; otherwise it may obstruct the visibility
through the rearview mirror.

Select the input source.
Each time you press the button, the input source changes

Monitor Remote as follows:
e When KV-C10 is not connected: e When KV-C10 is connected:
,—»AV1—>AV2—| ,—>TV—> VIDEO1— VIDEO2 ]
VIDEO 1

[MENU]
[ a]
A

Ex. When “AV 1” is selected Ex. When “VIDEO 1” is selected



\/ s+
‘

3 T
) Select the video format—NTSC or PAL, while %’
@Q\ the indication of the video format is still on the [
@ OQ\ screen. u
Each time you press the button, the video format
Monitor Remote alternates between NTSC (initial setting) and PAL. Select

whichever matches to the incoming signals.

Note:
When not using the KV-C10: You can preset the video format
separately for “AV 1 and “AV 2.”

Play back the external component.
To operate the external components, refer to the manuals for the connected
components.

Select the external component and adjust the volume on the car

receiver.
To check the current input source
On the monitor: Press the Power button (()) once.
On the remote: Press the MODE button once.
The on-screen display appears for about 5 seconds. Monitor Remote

To turn off the power
Close the liquid crystal panel.

* You can also turn off the power by holding the Power button ( ("))
on the unit, or by pressing the Power On/Standby button ( ()/|)
on the remote control briefly. )
Monitor Remote



T
@
a
(©)
P
w

10

+\

t

| Other Basic Operations '

Door Sensor button Cellmg Light button
(
@
Ceiling Light I Ceiling Light
[¢] e} H [¢]
o
Z
9
o
=l$h_ IR transmitter
===

Activating the door sensor

You can activate or deactivate the door sensor by pressing the Door Sensor button ( (ﬂ
When you activate the door sensor, the Door Sensor button glows red if the ignition switch of
the car is turned to “ON” or to “ACC.”

* With the door sensor activated, the ceiling lights go on when a door is open.

Turning on or off the ceiling lights
You can turn on or off the ceiling lights on the monitor by pressing the Ceiling Light button
(™A).

Note:
When the Door Sensor button is on, the ceiling lights go off when the door is opened then closed even
if the Ceiling Light button has been turned on.

Selecting the RF signals to the receiver

When you use JVC FM modulator KS-IF200 only:

You can listen to playback sounds from the external component through the receiver even if
it is equipped with no line input.

* Refer also to the instructions of KS-IF200.

When KV-C10 is connected:

Press the RF button on the remote controller.

Each time you press the button, “RF ON” and “RF OFF” alternate and the sounds you hear
through the car speakers change accordingly.

RF ON : Select to listen to the sound of the external component.
RF OFF : Select to listen to the radio (through the receiver).

Using optional cordless headphones

You can use JVC’s optional cordless headphones KS-HP1K to listen to the playback sounds
of the external component.

Playback sounds of the external component are transmitted through this IR transmitter to the
cordless headphones.



ADJUSTMENTS =

Using the Menu '

You can make your own adjustments using the Menu.
* For the adjustable items, see the next page.

ENGLISH

Basic procedure

Monitor Remote
%\ %\ Call up the Menu.
Cursor OLOR
BRIGHT
) TINT [MENU]
Monitor Remote DIMMER Ca]
FORMAT A
RESET
Select an item you want to adjust.
Each time you press the button, the cursor moves to the
next item.
Monitor Remote
@ ) Adjust the level of the selected item (or select

Q\ an appropriate setting for the selected item).
@ OQ\ e When “RESET” is selected in the above step, the Color,

Brightness, and Tint settings are reset.
Monitor Remote

i

Ca |l Activated button is

LYl highlighted.
TINT 32

-
Lr

Ex: When adjusting Tint

CONTINUED ON THE NEXT PAGE
11



12

=

4 .
Exit from the Menu.

* Press the button repeatedly until the Menu is erased.

Monitor Remote

Adjustable items on the menu

PCOLOR
BRIGHT
Appears only for
NTSC video format | pimmeER
FORMAT
RESET

w8

Note:

Menu goes off if no operation is done for about 5 seconds.

COLOR :Adjust the color of the picture—lighter or
darker. [ COLoR {1 2 J
¢ Adjustable range: 0 to 63
e|nitial level: 32
BRIGHT : Adjust this if the picture is too bright or too [ BRIGHT _ 32 J
dark. -
e Adjustable range: 0 to 63
eInitial level: 32
TINT :Adjust this if the human skin color is unnatural. l TINT 2 J
¢ Adjustable range: 0 to 63 0
e|nitial level: 32
Note:
This can be shown and adjusted when the video
format is NTSC.
DIMMER :Activate the dimmer if the inside of the car is
too bright to view the picture on the screen. l PoEE ON J

e Selectable settings: ON/OFF
e|nitial setting: OFF




=

FORMAT : Select an appropriate display size.
*Selectable settings: FULL/NORMAL/ZOOM l FORMAT J
enitial setting: FULL

When viewing 16:9 video signals:

FULL:

NORMAL.:
ZOOM:

ENGLISH

Pictures are fully shown on the screen.

*The black bars will be shown both at the top and the bottom of
the screen.

Pictures are shown at the center of the screen.

Pictures are enlarged on the screen so that no black bars will be

shown on the screen. (The entire picture cannot be shown on

the screen.)

O @
gOg_’ ‘_'QQC

FULL NORMAL ZOOM

When viewing 4:3 video signals:

FULL: Pictures are enlarged horizontally and are fully shown on the
screen.

NORMAL: Pictures are shown at the center of the screen.

*The black bars will be shown at the left and right sides of the
screen.

ZOOM: Pictures are enlarged on the screen so that no black bars will be
shown on the screen. (The entire picture cannot be shown on
the screen.)

@) O O O O
OJ—4LOJ— .0
O O O O O
FULL NORMAL ZOOM
RESET : Reset the Color, Brightness, and Tint levels COLOR 32
.. . BRIGHT 32 [MODE]
to the initial settings. TINT 32 [MENU]
Ca]
A
RESET

13



T
@
a
(©)
P
w

14

®?) MAINTENANCE

To prevent damage to the exterior

¢ Do not apply pesticides, benzine, thinner or other volatile substances to the unit.
The cabinet surface primarily consists of plastic materials.

e Do not wipe with benzine, thinner or similar substances because this will results in
discoloration or removal of the paint.

* When a cloth with a cleansing chemical is used, follow the caution points.
— Do not leave the unit in contact with rubber or vinyl products for long periods of time.
—Do not use cleansers which have polishing granules because this could damage the

surface of the unit.

Clean off dirt by wiping lightly with a soft cloth

When the unit is very dirty, wipe with a well-wrung cloth dipped in a kitchen cleanser (neutral)
thinned by water and then go over the same surface with a dry cloth.

(Since there is the possibility of water drops getting inside of the unit, do not directly apply
cleanser to the surface.)

Caution:
If water drops or similar wet substances get inside of the monitor via the liquid crystal panel surface,
it may cause a malfunction.

?! TROUBLESHOOTING

What appears to be trouble is not always serious. Check the following points before calling a
service center.

Symptoms Causes Remedies
e Colored spots (red, blue and This is a characteristic of liquid | See “Note” on page 15.
green) appear on the screen. | crystal panels and is not a
malfunction.
¢ No picture appears and sound | Correct input mode is not Select the correct input mode.
is not heard. selected.
¢ Picture shakes vertically or The video format (NTSC/PAL) is | Select the correct video format.
colors are abnormal. not correct.
¢ Remote controller does not The battery has lost its charge. Install a new battery.
work.
¢ Cordless headphones (not
supplied) do not work. Remote sensor is exposed to Do not expose the remote
strong light. sensor to strong light.




SPECIFICATIONS

WIDE COLOR MONITOR
Display:
9 inch Liquid crystal panel
Number of Pixel:
336,960 pixels (480 vertical x 234
horizontal x 3)
Drive Method:
TFT (Thin Film Transistor) active matrix
format
Cordless Audio:
Infrared audio transmitter (Support IR
receiver stereo headphones)
L-channel: 2.3 MHz
R-channel: 2.8 MHz
Effective listening angle: 30°
Effective range: 4 m (13.1 ft)
Dimensions (W x H x D):
314 mm x 38 mm x 257 mm
(12-3/8" x 1-1/2" x 10-1/8”)
including Shroud
Mass: 1.2 kg (2.7 Ibs) including Shroud

MONITOR CONNECTION
UNIT
Input
Video: RCA pin x 2 circuits
1 V(p-p), 75 Q
Audio: RCA pin x 2 circuits
0.5 V(rms)
Tuner: 8-pin DIN connector
(only for JVC’s KV-C10)
Output
Display:
13-pin DIN connector
Video: RCA pin x 1 circuit
1 V(p-p), 75 Q
Audio: RCA pin x 1 circuit
0.5 V(rms)
Dimensions (W x H x D):
108.5 mm x 28.5 mm x 78 mm
(4-5/16” x 1-1/8” x 3-1/8”)
excluding projections
Mass: 160 g (0.36 Ibs)

GENERAL

Power Requirement

Operating Voltage:

DC 14.4V (11 Vto 16 V allowance)

Grounding System:

Negative ground
Allowable Operating Temperature:

0°C to +40°C (32°F to 104°F)
Allowable Storage Temperature:

—20°C to +80°C (—4°F to 176°F)
Ceiling light bulb: 12V /3 W

ACCESSORIES

Metal plate x 1

Shroud x 1

Extension cord x 1

Power cord x 1

Ceiling light cord x 1

Remote controller (with the battery) x 1
Screw (M4 x 5 mm) (M4 x 1/4”) x 4
Screw (M4 x 12 mm) (M4 x 1/2") x 4

ENGLISH

Design and specifications are subject to change
without notice.

Note:

The liquid crystal panel is built with very high
precision technology and has at least 99.99%
effective image pixels. Be aware that on 0.01%
of the panel there may be missing pixels or
constantly lit pixels.

15



=
.JVI:::Q‘

/m@@ﬁ&.ﬁ

ENIERIAT VAR
http://www.jvcmobile.com
Visit us on-line for
Technical Support & Customer Satisfaction Survey.
[US RESIDENTS ONLY |

&

JVEC

VICTOR COMPANY OF JAPAN, LIMITED

EN, SP, FR
© 2003 VICTOR COMPANY OF JAPAN, LIMITED @ 0303MNMMDWPUN /
/



KV-MR9000

Installation /Connection Manval

Manual de instalacion/conexion
Manvel d’installation/raccordement

LVT0986-002A
[J]

=
'§§%

"

(9

ENGLISH ESPANOL

WARNING

ADVERTENCIA

0303MNMMDWPUN
EN, SP, FR

LV

AVERTISSEMENT

Installation requires some special knowledge.

Do not install the monitor system yourself. Consult a dealer
having special knowledge of this kind for safe and reliable
installation.

e DO NOT INSTALL THE MONITOR IN A LOCATION WHICH

OBSTRUCTS DRIVING, VISIBILITY ORWHICH IS PROHIBITED
BY APPLICABLE LAWS AND REGULATIONS.
If the monitor is installed in a location which obstructs forward
visibility or operation of the air bag or other safety equipment or
which interferes with operation of the vehicle, it may cause an
accident.

e NEVER USE BOLTS OR NUTS FROM THE VEHICLE’S
SAFETY DEVICES FOR INSTALLATION.

If bolts or nuts from the steering wheel, brakes or other safety
devices are used for installation of the monitor, it may cause an
accident.

e ATTACH THE WIRES CORRECTLY.

If the wiring is not correctly performed, it may cause a fire or an
accident. In particular, be sure to run and secure the lead wire
so that it does not get tangled with a screw or the moving portion
of a seat rail.

e USE WITH DC 12 V NEGATIVE GROUND VEHICLES.

This monitor system is only for use in a DC 12 V negative ground
vehicle.

It cannot be used in large trucks or diesel vehicles which are DC
24 V vehicles.

If it is used in the wrong type of vehicle, it may cause a fire or
accident.

¢ To prevent short circuits, we recommend that you disconnect
the battery’s negative terminal and make all electrical connections
before installing the unit. If you are not sure how to install this
unit correctly, have it installed by a qualified technician.

¢ Avoid installing the monitor connection unit in the following
places
— Where it would hinder your safe driving.

— Where it would be exposed to direct sunlight or heat directly
from the heater or placed in an extremely hot place.

— Where it would be subject to rain, water splashes or excessive
humidity.

— Where it would be subject to dust.

— Where it would be positioned on an unstable place.

— Where it could damage the car’s fittings.

—Where proper ventilation would not be maintained, such as
under a floor mat.

CAUTION

Since there may be legal regulations defining the permissible
installation locations for the color monitor which differ by country
or by state, be sure to install the color monitor in a location
complying with any such laws.

La instalacion requiere cierto conocimiento especial.

No instale el sistema del monitor por si mismo. Para una
instalacion segura y confiable, consulte con un
concesionario que tenga conocimientos especiales en
esta area.

NO INSTALE EL MONITOR EN UN LUGAR QUE IMPIDA EL

MANEJO O LAVISIBILIDAD, NI DONDE LOS PROHIBAN LAS

LEYESY REGLAMENTOS APLICABLES.

Si el monitor se instala en un lugar que obstruye la visibilidad

hacia adelante o la operacion de una bolsa de aire u otro equipo

de seguridad, o que interfiere con la operacion del vehiculo,

cerca de la palanca de cambios o pedal del freno por ejemplo,

podré causarse un accidente.

NUNCA UTILICE PERNOS O TUERCAS DE LOS

DISPOSITIVOS DE SEGURIDAD DEL VEHICULO PARA

HACER LA INSTALACION.

Si los pernos o tuercas del volante, frenos u otros dispositivos

de seguridad se utilizan para instalar el monitor podréa causarse

un accidente.

REALICE EL CABLEADO CORRECTAMENTE.

Si no se hace bien el cableado puede producirse un incendio

0 un accidente. En particular, asegurese de instalar el cable

conductor para que éste no quede enredado en un tornillo ni

en la parte movil del rail del asiento.

UTILICE EL MONITOR EN VEHICULOS DE 12 V CC CON

PUESTA ATIERRA NEGATIVA.

Este monitor ha sido disefiado para ser utilizado solamente en

vehiculos de 12 V CC con puesta a tierra negativa.

No puede utilizarse en camiones grandes ni vehiculos diesel

de 24V CC.

Si se utiliza en el tipo equivocado de vehiculo se puede causar

un incendio o accidente.

Para evitar cortocircuitos, se recomienda desconectar el

terminal negativo de la bateria y realizar todas las conexiones

eléctricas antes de instalar la unidad. Si tiene dudas sobre cémo

realizar la instalacion correctamente, déjela en manos de un

técnico cualificado.

Evite instalar la unidad de conexiéon del monitor en los

siguientes lugares:

— Donde pueda constituir un obstaculo para la conduccion.

— Donde pueda quedar expuesto a la luz solar directa o al calor
directo de un calefactor, o en un lugar muy caliente.

— Donde pueda mojarse debido a la lluvia, etc., o en un lugar
excesivamente humedo.

— En un lugar polvoriento.

— En un sitio inestable.

— Donde pueda producir dafios en los herrajes del automovil.

—En lugares donde no pueda obtenerse una ventilacion
adecuada, como debajo de la alfombra del piso.

PRECAUCION

Dependiendo de los estados, pueden haber reglamentos
locales que determinan los lugares de instalacion permisibles
para el monitor de color; por lo tanto, asegurese de instalar el
monitor en un sitio que cumpla con tales reglamentos.

Linstallation nécessite certaines connaissances
spéciales.

N’installez pas le moniteur vous-méme. Consultez un
revendeur possédant les connaissances spéciales
nécessaires pour une installation correcte et sire.

N’ INSTALLEZ PAS LE MONITEUR DANS UN ENDROIT QUI

GENE LA CONDUITE, LA VISIBILITE OU QUI EST INTERDIT

PAR LE CODE DE LA ROUTE ET LES REGLEMENTS.

Sile moniteur était installé a un emplacement génant la visibilité

avant, ou le déploiement du sac a air, et autres dispositifs de

sécurité, ou a un emplacement génant pour la conduite du

véhicule, comme prés du levier des vitesses ou de la pédale du

frein, cela risquerait de provoquer des accidents.

NE JAMAIS UTILISER POUR LINSTALLATION DES

BOULONS OU DES ECROUS PROVENANT DES DISPOSITIFS

DE SECURITE DU VEHICULE.

Si I'on utilisait pour I'utilisation du moniteur des boulons et des

écrous cannibalisés du volant, des freins ou autres dispositifs

de sécurités, cela risquerait de provoquer des accidents.

ATTACHER LES CORDONS CORRECTEMENT.

Si le cablage n’est pas exécuté correctement, cela risque de

provoquer un incendie ou autre accident. Veiller, en particulier,

a tirer et attacher les fils en sorte qu’ils me s’accrochent pas a

une vis ou ne se coincent dans les parties mobiles des rails des

sieges. i i

USAGE SUR LES VEHICULES DE 12V CC AVEC NEGATIF

A LA MASSE.

Ce moniteur ne peut étre utilisé que sur les véhicules de 12V CC

avec négatif a la masse.

Il ne peut pas étre utilisé sur les gros camions ou les véhicules

diesel de 24V CC.

S’il était utilisé sur un type de véhicule inadéquat cela risquerait

de provoquer un incendie ou autres accidents.

Pour éviter les courts-circuits, nous recommandons que vous

déconnectiez la borne négative de la batterie et réalisiez toutes

les connexions électriques avant d’installer I'appareil. Si vous

n’étes pas sir de savoir comment installer cet appareil

correctement, faites-le installer par un technicien qualifié.

Evitez d’installer I'unité de connexion du moniteur dans

les endroits suivants:

— Ou il peut géner la conduite de la voiture.

—Ou il est exposé a la lumiére directe du soleil, a la chaleur
directe du chauffage ou placé dans un endroit trés chaud.

— Ou il est sujet a la pluie, aux éclaboussures ou a une humidité
excessive.

—Ou il est sujet a la poussiére.

— Ou il est positionné dans un endroit instable.

— Ou il peut endommager les accessoires de la voiture.

— Ou une ventilation correcte ne peut pas étre maintenue,
comme sous un tapis de sol.

ATTENTION

Il peut y avoir des réglementations définissant les
emplacements d’installation autorisés pour un moniteur couleur
et celles-ci peuvent varier d’une région a l'autre. Assurez-vous
d’installer le moniteur dans un endroit conforme a ces lois.

Parts list for installation and connection
The following parts are provided with this unit.
After checking them, please set them correctly.

Lista de piezas para instalaciéon y conexion
Con esta unidad se suministran las siguientes piezas.
Después de inspeccionarlas, cologuelas correctamente.

Liste des pieces pour l'installation et
raccordement

Les piéeces suivantes sont fournies avec cet appareil.
Apres vérification, veuillez les placer correctement.

\

@2

Remote controller
with a battery (CR2025) installed
Unidad de control remote

Monitor connection unit

0 QQ9

=
Wide color monitor (center unit and shroud)
Monitor color de pantalla ancha
(unidad central y refuerzo)
Moniteur couleur a écran large
(unité centrale et socle de montage au plafond)

Unidad de conexion del monitor
Unité de connexion du moniteur

Extension cord (4 m) (13 ft)
Cordoén prolongador (4 m) (13 pies)
Cordon prolongateur (4 m) (13 pieds)

con una pila instalada (CR2025)
Télécommande

&
o
T

Screws (M4 x 5 mm) (M4 x 1/4")
Tornillos (M4 x 5 mm) (M4 x 1/4 pulgada)
Vis (M4x 5 mm) (M4 x 1/4 po.)

avec une pile en place (CR2025)

Power cord
Cordon de alimentacion
Cordon d’alimentation

Metal plate
Placa metélica
Plaque métallique

&
@@@@@
&

)
eiling light cord
4

Corddn de la luz del techo
Cordon de plafonnier

Screws (M4 x 12 mm) (M4 x 1/2")
Tornillos (M4 x 12 mm) (M4 x 1/2 pulgada)
Vis (M4 x 12 mm) (M4 x 1/2 po.)

TROUBLESHOOTING

LOCALIZACION DE AVERIAS

EN CAS DE DIFFICULTES

e The fuse blows.
* Are the red and black leads connected correctly?

¢ Power cannot be turned on.
* |Is the yellow lead connected?

¢ Picture does not come on screen.
* |Is the correct input selected?

L[]
*

L]
*

L]
*

El fusible se quema.
¢ Estan los conductores rojo y negro correctamente conectados?

No es posible conectar la alimentacion.
¢ Esté el cable amarillo conectado?

La imagen no aparece en la pantalla.
¢ Se ha seleccionado la entrada correcta?

e Le fusible saute.
* Les fils rouge et noir sont-ils racordés correctement?

e L’appareil ne peut pas étre mise sous tension.
* Le fil jaune est-elle raccordée?

¢ Aucune image n’apparait sur I’écran.
* L'entrée correcte est-elle choisie?



INSTALLATION

INSTALACION

¢ The following illustration shows a typical installation. However,
you should make adjustments corresponding to your specific
car. If you have any questions or require information regarding
installation kits, consult your JVC car audio dealer or a company
supplying kits.

e La siguiente ilustracion muestra una instalacion tipica. Sin
embargo usted debera efectuar los ajustes correspondientes
a su automovil. Si tiene alguna pregunta o necesita informacion
acerca de las herramientas para instalacion, consulte con su
concesionario de JVC de equipos de audio para automoviles o
a una compafiia que suministra tales herramientas.

INSTALLATION

e Lillustration suivante est un exemple d’installation typique.
Cependant, vous devez faire les ajustements correspondant a votre
voiture particuliére. Si vous avez des questions ou avez besoin
d’information sur des kits d’installation, consulter votre revendeur
d'autoradios JVC ou une compagnie d’approvisionnement.

Mounting the color monitor

Installation procedure varies among different cars. The following
is an example.

It is recommended to have the monitor system installed by
a qualified technician.

Before mounting the monitor to the ceilling:
¢ Perform the required external connections first.

Montaje del monitor de color

El procedimiento de instalacion varia segun los diferentes
vehiculos. Lo siguiente es soélo un ejemplo.

Se recomienda que el sistema de monitor sea instalado por
un técnico cualificado.

Antes de instalar el monitor en el techo:
e Efectle primero las conexiones externas requeridas.

-

Metal plate
Placa metélica
Plaque métallique

Shroud

*When shipped from the factory, these three <
parts are temporarily assembled as one
unit with the screws.

Refuerzo
Socle de montage
au plafond

* Cuando se expide de féabrica, estas tres
partes se encuentran ensambladas
temporalmente como una sola unidad por

* Screws (M4 x 5 mm) (M4 x 1/4")
* Tornillos (M4 x 5 mm) (M4 x 1/4 pulgada)
*Vis (M4x 5 mm) (M4 x 1/4 po.)

medio de tornillos.

* A I'expédition de I'usine, ces trois piéces

sont provisoirement assemblées en un

TIPS

e - ) =

Center unit
Unidad central
Unité centrale

seul élément avec les vis. [

[l

o]

[T}

e

* Screws (M4 x 12 mm) (M4 x 1/2")
g * Tornillos (M4 x 12 mm) (M4 x 1/2 pulgada)
*Vis (M4 x 12 mm) (M4 x 1/2 po.)

VCR or DVD player, etc.
VCR o reproductor DVD, etc.
Magnétoscope, lecteur de DVD, etc.

Montage du moniteur couleur

La procédure d’installation varie d’une voiture a l'autre. La
procédure qui suit est un exemple.

Il est recommandé de faire installer le systéme de moniteur
par un technicien qualifié.

Avant de fixer le moniteur au plafond:
e Réalisez d’abord les connexions extérieures nécessaires.

Wide color monitor
Monitor color de pantalla ancha
Moniteur couleur a écran large

Monitor connection unit
Unidad de conexion del monitor
Unité de connexion du moniteur

Replacing the ceiling light bulbs / Reemplazo de las bombillas de las luces del techo / Remplacement des ampoules du plafonnier

/ 4

central.

Pour retirer le couvercle du plafonnier desserrez
proportionnellement les vis fixant I'unité centrale.

To remove the ceiling light cover, proportionally loosen 1
the screws fixing the center unit.

Para retirar la tapa de la luz del techo, afloje
proporcionalmente los tornillos de fijacion de la unidad

Ceiling light cover
Tapa de la luz del techo
Couvercle de plafonnier

2

Ceiling light bulb
Bombilla de la luz
del techo

Ampoule de plafonnier

ELECTRICAL CONNECTIONS

CONEXIONES ELECTRICAS

RACCORDEMENTS ELECTRIQUES

To prevent short circuits, we recommend that you disconnect the
battery’s negative terminal and make all electrical connections
before installing the unit. If you are not sure how to install this unit
correctly, have it installed by a qualified technician.

Note:

This unit is designed to operate on 12 V DC, NEGATIVE ground
electrical systems. If your vehicle does not have this system, a
voltage inverter is required, which can be purchased at JVC car
audio dealers.

* Replace the fuse with one of the specified ratings. If the fuse
blows frequently, consult your JVC car audio dealer.

Para evitar cortocircuitos, recomendamos que desconecte el
terminal negativo de la bateria y que efectle todas las conexiones
eléctricas antes de instalar la unidad. Si usted no esté seguro de
como instalar correctamente la unidad, hagala instalar por un
técnico cualificado.

Nota:

Esta unidad esta disefiada para funcionar con 12V de CC, con
sistemas eléctricos de masa NEGATIVA. Si su vehiculo no
posee este sistema, sera necesario un inversor de tension, que
puede ser adquirido en los concesionarios de JVC de equipos
de audio para automoviles.

e Reemplace el fusible por uno con la corriente especificada. Si
el fusible se quemase frecuentemente, consulte con su
concesionario car audio de JVC.

Pour éviter tout court-circuit, nous vous recommandons de
débrancher la borne négative de la batterie et d’effectuer tous les
raccordements électriques avant d’installer I'appareil. Si 'on n’est
pas sir de pouvoir installer correctement cet appareil, le faire
installer par un technicien qualifié.

Remarque:

Cet appareil est congu pour fonctionner sur des sources de courant
continu de 12V a masse NEGATIVE. Si votre véhicule n’offre pas
ce type d’alimentation, il vous faut un convertisseur de tension,
que vous pouvez acheter chez un revendeur d’autoradios JVC.

e Remplacer le fusible par un de la valeur précisée. Si le fusible
saute souvent, consulter votre revendeur d’autoradios JVC.

Monitor connection unit / Unidad de conexién del monitor / Unité de connexion du moniteur

Front
Lado delantero
Avant

Hooojeoek—-

AV 2 (INPUT 2) jacks

« VIDEO/AUDIO L (left)/AUDIO R (right)
AV 1 (INPUT 1) jacks

* VIDEO/AUDIO L (left)/AUDIO R (right)
AV OUT jacks

* VIDEO/AUDIO L (left)/AUDIO R (right)
Power Supply connector
TO MONITOR (13 PIN) connector
[6] TO TV TUNER (8 PIN) connector

1}

Back
Lado trasero
Arriére

[1] Jacks AV 2 (INPUT 2)

¢ V